Check for updates

OPEN ACCESS

EDITED BY Paolo Scollo, Kore University of Enna, Italy

REVIEWED BY

Roberto Altamirano, University of Chile, Chile I Gde Sastra Winata, Udayana University, Indonesia

*CORRESPONDENCE

Zuhal Y. Hamd zuhalhamd2019@gmail.com Mayeen Uddin Khandaker mayeenk@sunway.edu.my

RECEIVED 02 August 2024 ACCEPTED 17 December 2024 PUBLISHED 20 January 2025

CITATION

Gareeballah A, Gameraddin M, Alshoabi SA, Alsaedi A, Elzaki M, Alsharif W, Daoud IM, Aldahery S, Alelyani M, AbdElrahim E, Alhazmi FH, Hamd ZY, Ahmed Abouraida R, Khandaker MU and Adam M (2025) The diagnostic performance of International Ovarian Tumor Analysis: Simple Rules for diagnosing ovarian tumors—a systematic review and meta-analysis. *Front. Oncol.* 14:1474930. doi: 10.3389/fonc.2024.1474930

COPYRIGHT

© 2025 Gareeballah, Gameraddin, Alshoabi, Alsaedi, Elzaki, Alsharif, Daoud, Aldahery, Alelyani, AbdElrahim, Alhazmi, Hamd, Ahmed Abouraida, Khandaker and Adam. This is an open-access article distributed under the terms of the Creative Commons Attribution License (CC BY). The use, distribution or reproduction in other forums is permitted, provided the original author(s) and the copyright owner(s) are credited and that the original publication in this journal is cited, in accordance with accepted academic practice. No use, distribution or reproduction is permitted which does not comply with these terms.

The diagnostic performance of International Ovarian Tumor Analysis: Simple Rules for diagnosing ovarian tumors —a systematic review and meta-analysis

Awadia Gareeballah¹, Moawia Gameraddin^{1,2}, Sultan Abdulwadoud Alshoabi¹, Amirah Alsaedi¹, Maisa Elzaki¹, Walaa Alsharif¹, Ibrahim Mohamed Daoud^{3,4}, Shrooq Aldahery⁵, Magbool Alelyani⁶, Elrashed AbdElrahim⁷, Fahad H. Alhazmi ¹, Zuhal Y. Hamd^{8*}, Raga Ahmed Abouraida⁶, Mayeen Uddin Khandaker^{9,10,11*} and Mohamed Adam⁶

¹Department of Diagnostic Radiology, College of Applied Medical Sciences, Taibah University, Al-Madinah Al-Munawwarah, Saudi Arabia, ²Faculty of Radiological Sciences and Medical Imaging, Alzaiem Alazhari University, Khartoum, Sudan, ³Department of Obstetrics and Gynecology, Faculty of Medicine, Alneelain University, Khartoum, Sudan, ⁴Department of Obstetrics and Gynecology, Batterjee Medical College (BMC), Abha, Saudi Arabia, ⁵Department of Applied Radiologic Technology, College of Applied Medical Sciences, University of Jeddah, Jeddah, Saudi Arabia, ⁶Department of Radiological Sciences, College of Applied Medical Sciences, King Khalid University, Abha, Saudi Arabia, ⁷Radiological Sciences Department, College of Applied Medical Sciences, Taif University, Taif, Saudi Arabia, ⁸Department of Radiological Sciences, College of Health and Rehabilitation Sciences, Princess Nourah bint Abdulrahman University, Riyadh, Saudi Arabia, ⁹Centre for Applied Physics and Radiation Technologies, School of Engineering and Technology, Sunway University, Bandar Sunway, Malaysia, ¹⁰Faculty of Graduate Studies, Daffodil International University, Savar, Bangladesh, ¹¹Department of Physics, College of Science, Korea University, Seoul, Republic of Korea

Introduction: Adnexal masses are a common health issue in gynecology; the challenge lies in the differential diagnosis of these masses. The International Ovarian Tumor Analysis Simple Rules (IOTA-SR) offers the first scoring system to aid in diagnosis. It is based on a set of five ultrasound imaging features indicative of a malignant ovarian tumor and five features indicative of a benign tumor. This review aims to assess the diagnostic performance of IOTA-SR for classifying ovarian tumors as benign or malignant.

Methods: A systematic review was conducted on MEDLINE, Embase, Google Scholar, Scopus, and Web of Science. The terminologies "IOTA-SR", "adnexal, mass", and "ovarian tumors scoring" were employed. Twenty-seven research articles conducted from 2008 to 2022 were included in the meta-analysis; the publication outcome indicates that performance quality tests were extracted directly or indirectly, including true positive (TP), false positive (FP), true negative (TN), and false negative (FN). The Quality Assessment of Diagnostic Accuracy Studies 2 (QUADAS-2) was used to evaluate the study quality and estimate the risk of bias. After estimating the pooled effect of the sensitivity, specificity, and diagnostic odds ratio (DOR), the summary receiver operating characteristic (SROC) curve was estimated using the bivariate random effects model. Utilizing

Cochran's Q statistics and Higgins's inconsistency test through the l^2 index for pooled analysis, the heterogeneity of studies was quantitatively evaluated. The funnel plot and Egger's test were utilized to visually and quantitatively evaluate potential publication bias.

Results: Among 27 studies, including 7,841 adnexal masses, the results of this meta-analysis showed excellent diagnostic performance with a pooled sensitivity of 92% [95% confidence interval (CI), 0.89–0.94] and a pooled specificity of 92% (95% CI, 0.89–0.94). The IOTA-SR was applicable in 85.7% of adnexal masses.

Conclusion: The IOTA-SR is highly effective in the presurgical differentiation of malignant versus benign adnexal masses when applied by an expert ultrasonography operator.

KEYWORDS

adnexal mass, ultrasonography, International Ovarian Tumor Analysis Simple Rules, IOTA-SR, benign tumor, malignant tumor, gynecology

1 Introduction

Ovarian masses are occasionally found incidentally, and distinguishing between benign and malignant ovarian masses is crucial for determining the best course of treatment. Ovarian cancer accounts for 3.7% of all cancers in women and is the seventh most prevalent type (1). Five to ten percent of women will have surgery for a suspected ovarian tumor at some point in their lives (2). The age-adjusted incidence rate in Europe in 2012 was 13.1 per 100,000 women, with a total of 65,538 newly reported cases. Because it can be fatal, ovarian cancer is a significant health issue in gynecology, accounting for 42,700 fatalities in Europe in 2012 (mortality rate, 7.6 per 100,000) (3).

Why is the early detection of ovarian cancer crucial? The majority of ovarian malignancies are epithelial ovarian cancer (EOC) that develops rapidly, so early diagnosis is urgent. Immediate referral to a gynecologic oncologist for a prompt diagnosis of the mass's nature can ensure more effective treatment (4). Treatment strategy can be altered by determining preoperatively whether an adnexal mass is benign or malignant, but this is often the most challenging step because currently accessible diagnostic tests are not entirely reliable. Radiological imaging and tumor markers are the most frequently used procedures, but the need for improvement cannot be overstated.

Previous studies have reported that between 5% and 40% of adnexal cysts are malignant, meaning that other patients whose cysts are classified as benign or ambiguous may wait longer for treatment rather than being referred for unneeded surgery (5, 6). The International Ovarian Tumor Analysis (IOTA) group suggested modifying the simple rules risk (SRR) technique to increase its predictive value (7). All kinds of adnexal masses can have the likelihood of their malignancy calculated using this logistic regression model.

Imaging methods, such as ultrasonography (USG), computed tomography (CT), and magnetic resonance imaging (MRI) can be used to assess soft tissue structure, development, and lymph nodes. The first-line examination before surgery for ovarian masses is ultrasound -either abdominal or transvaginal-the most commonly used tool for detecting pelvic and abdominal pathology. This non-invasive imaging technique can accurately distinguish between normal and malignant adnexal masses (8). Therefore, several recommendations and recognized reports relying on sonographic characterization have been proposed to determine the likelihood of ovarian masses being malignant. The IOTA group's Simple Rules (IOTA-SR), developed in 2008, is one such recommendation widely used in clinical practice (9). The IOTA-SR includes five ultrasonography characteristics that can differentiate benign from malignant tumors. Benign tumor traits (Bfeatures) include B1 = unilocular, B2 = presence of solid portions with the greatest solid component < 7mm in diameter, B3 = presence of sonic shadows, B4 = smooth multilocular tumor with \leq 10 cm its largest diameter, and B5 = no blood supply (color score 1). Malignant tumor traits (M-features) include M1 = irregular solid tumor, M2 = presence of ascites, M3 = presence of four or more papillary structures, M4 = irregular multilocular tumor with \geq 10 cm maximum diameter, and M5 = very strong blood flow (color score 4) (1).

Subsequently, a CT scan and an MRI are performed to check for nodal involvement, the breadth of the disease in the upper abdominal region, the structure of the masses, and whether there is any uncertainty regarding the origin of the mass, such as the gastrointestinal tract, urinary system, or retroperitoneum. Subjective pattern recognition assessment using USG is operatordependent because it relies on the operator's experience. Furthermore, there needs to be more in the USG-based explanation of the adnexal masses' terminology and classification standards. Different classification systems have been developed to overcome these limitations that use USG findings and other modalities to distinguish adnexal masses. These prompted the development of various scoring systems for differentiating benign from malignant adnexal tumors, including the IOTA-SR (10, 11).

Several studies conducted in the literature mentioned that the smaller sample size limit the generalizability of diagnostic performance of IOTA-SR in diagnosing ovarian tumors, by pooling the data from several studies, meta-analysis affords a more robust estimate of sensitivity, specificity and diagnostic accuracy.

The authors note that few studies have been conducted in the Gulf and low-income countries, pointing to a gap in knowledge and practice using IOTA-SR in the diagnosis and differentiation of ovarian masses. Filling this gap in knowledge and practice is vital. This study was conducted to evaluate the efficacy of IOTA strategies for diagnosing ovarian masses using a larger sample size. In the view of the authors, it was effective, simple, and easy to apply in clinical practice with excellent performance.

2 Methodology

2.1 Sources of information and search strategy

A systematic search was performed in relevant databases, including PubMed, Scopus, Google Scholar, Web of Science, Embase, and MEDLINE, for articles that evaluated the accuracy of IOTA-SR in diagnosing ovarian masses. The following terms were searched: "IOTA", "adnexal tumor", and "ovarian cancer scoring". The initial search strategy's results were filtered using a title and abstract screening process. The titles of 1,172 studies were extracted. Only 228 were identified for further screening. Of those, 187 were excluded for various reasons, and 27 were included in the meta-analysis. Figure 1 illustrates the results of our systematic search and meta-analysis.

2.2 Eligibility criteria

Two authors read and examined all relevant articles to determine those meeting the inclusion and exclusion criteria for this meta-analysis. The inclusion criteria were 1) women with ovarian tumors; 2) ovarian cancer was diagnosed via IOTA and histopathology; 3) outcome indicated performance quality of testing, including specificity and sensitivity; and 4) rates of true positive (TP), false positive (FP), false negative (FN), and true negative (TN) could be inferred from the study. The exclusion criteria were case reports, systematic reviews, lack of original data, duplicate data, and conflicting outcome indicators.

2.3 Data extraction

From the selected studies, the extracted data were entered separately by the same two authors. These consisted of the first author's name, publication year, study design (prospective vs. retrospective), blind method (blind from the reference standard vs. unreported), number of patients, number of malignant tumors, number of benign tumors, sensitivity, specificity, TP, FP, FN, and TN, which were gathered and tabulated.

2.4 Quality assessment

2.4.1 Assessment of risk bias

The included studies' risk of bias and applicability were evaluated by two authors (AG and AA) using the Quality Assessment of Diagnostic Accuracy Studies 2 (QUADAS-2) instrument (12). This instrument uses a series of questions across four domains, each of which can be answered yes, no, or unclear, to assess the whole range of bias present in the included studies' design and execution. The following domains are represented in QUADAS-2 items. 1) Patient selection: This domain assesses the risk to diagnostic accuracy of bias in the selection of participants for the study, including the methods used to recruit and enroll participants and the criteria used to include or exclude them. It included the following questions: a) Was the patient sample enrolled in sequential or random order? b) Is a case-control study avoided? c) Has the study been prevented from unnecessary exclusion? d) Were the patients chosen typical of the participant group to which the test index would apply?

2) Index test: This domain assesses the risk of bias in how the index test (the diagnostic test being evaluated) was performed, interpreted, and reported. It consisted of the following question: Were the outcome of the index test results evaluated without identifying the results of the gold standard?

3) Reference standard: This domain assesses the risk of bias in how the reference standard (the gold standard used to diagnose the condition of interest) was performed, interpreted, and reported and included two questions: a) Is the reference standard a good indicator to classify the target status correctly? b) Were the standard reference findings interpreted without identifying the findings of the index test?

4) Flow and timing: This domain assesses the risk of bias in the flow of patients during the study and the duration of the test index and gold standard relative to each other and included four questions: a) Was there a suitable interval between index test(s) and the gold standard? b) Were all patients provided a reference standard? c) Did all patients have access to the same gold standard?d) Were all participants included in the analysis?

The application assessment is conducted using three domains: a) the individuals' selection domains (Is there a concern that the included patients do not match the review question)?, b) the index test domain (Does it matter if the index test, its conduct, or its interpretation differs from the review question)?, and c) the gold standard (Is there a concern that the target condition, as defined by the standard of reference, does not match the review question)? (see Figure 2).

2.5 Statistical analysis

The diagnostic performance of IOTA-SR in classifying benign or malignant ovarian tumors was evaluated. The analysis strategy



used was similar to that described by Shim et al., in which the bivariate random effects model was used to estimate the pooled effect of sensitivity, specificity, and diagnostic odds ratio (DOR), followed by an estimation of the summary receiver operating characteristic (SROC) curve. The heterogeneity of the studies was quantitatively evaluated using Cochran's Q statistics and Higgins's inconsistency test through the I² index for pooled analysis. If Cochran's Q statistics p-value is <0.05 and the I² is >50%, these are considered evidence of substantial heterogeneity. Possible publication bias was evaluated quantitatively and visually using the funnel plot and Egger's test, respectively, with a p-value of <0.10 indicating significant asymmetry and the presence of publication



bias. This analysis was conducted by employing the "Mada" and "meta" packages in the R statistical software (Version 1.4.1103, R Foundation for Statistical Computing, Vienna, Austria). Meta-regression was used to explain the heterogeneity in the results. The DOR was used to assess publication bias and heterogeneity, as it depends significantly on sensitivity and specificity.

3 Results

The study was conducted on 7,841 ovarian masses included in the publications reviewed, approximately 72.2% of which were benign and 27.8% were malignant on histopathology (Table 1).

The total number of studies included was 27. Only one study was conducted on pregnant women (32). Four studies were included twice in the analysis, resulting in 31 total studies. Dakhly et al. perform two step analysis, one step with inconclusive masses were excluded and another step with inconclusive included and considered as malignant. de Gauna et al. analyzed two centers, A and B. Knafel et al. analyzed level 1 and 2 IOTA-SR studies based on examiner experience, and Hidalgo

TABLE 1 Type of ovarian tumors according to histopathology results.

Туре	Number	%
Benign	5,664	72.2
Malignant	2,177	27.8
Total cases	7,841	100

et al. used the simple rule descriptor in Steps 1 and 2) (21, 23, 26, 36).

IOTA-SR was applicable in 85.7% of the total cases included in the studies. The total number of malignant tumors was 1,971, and 4,889 were benign, based on histopathology. With regard to IOTA-SR, the number of TPs was 1,795, TNs 4,457, FPs 432, and FNs 176, as shown in Table 2 and Figure 3.

3.1 Assessment of QUADAS-2

The summary graph of the QUADAS-2 assessment for the selected publications is shown in Figure 2. The four areas (domains) depicted on the bias risk graph are the patient selection domain, the index test domain, the reference, and the domain of flow and timing. The concerns regarding applicability in the graph are represented in three domains: the gold standard, the index test, and patient selection. In both the risk of bias and the applicability of data, patient selection showed low concerns. However, in some studies, there are concerns regarding the reference standard and index test, as some classified borderline tumors as malignant in IOTA classifications, while one study considered borderline malignant in histopathology.

3.2 Results of diagnostic performance of IOTA- SR in diagnosing ovarian tumors

In the meta-regression graph, Figure 4 shows the bubble plot, DOR on the y-axis, and prevalence on the x-axis. The bubble's size

TABLE 2 Frequency of total and number of cases in which IOTA-SR was applied and the performance of IOTA-SR in the diagnosis of malignant tumors.

No.	Author	Applicable of IOTA	Total cases	TP	FN	FP	TN
1	Timmerman 2008 (9)	386	507	106	6	25	249
2	Timmerman 2010 (13)	1,501	1,938	340	29	49	1,083
3	Fathallah 2011 (14)	109	122	8	3	3	95
4	Hartman 2012 (15)	91	103	20	2	9	60
5	Alcalzar 2013 (16)	270	340	29	4	6	231
6	Sayasneh 2013 (17)	214	255	46	7	3	158
7	Feharsal 2016 (18)	119	119	57	1	16	45
8	Nunes 2014 (19)	237	303	101	4	15	117
9	Tantipalakorn 2014 (20)	319	389	88	19	10	202
10a	Knafel 2014 (SR1) (21)***	186	226	58	3	7	118
10b	Knafel 2014 (SR2) (21)***	206	226	64	4	9	129
11	Tinnangwattana 2015 (22)	94	100	25	3	11	55
12a	de Gauna 2015 (A) (23) ⁺⁺	114	135	27	0	4	62
12b	de Gauna 2015 (B) (23) ⁺⁺	109	133	11	2	4	92

(Continued)

TABLE 2 Continued

No.	Author	Applicable of IOTA	Total cases	TP	FN	FP	TN
13	Garg 2017 (24)	45	50	11	1	5	28
14	Auekitrungrueng 2019 (25)	479	392	98	19	22	253
15a	Dakhly 2019 (inconclusive malignant) (26)***	396	396	88	6	83	219
15b	Dakhly 2019 (26)***	292	396	44	6	22	220
16	Shetty 2019 (27)	183	205	26	11	2	144
17	Solanki 2020 (10)	174	174	30	1	11	133
18	Vilà Famada 2020 (28)	74	102	16	1	4	47
19	Sharma 2020 (29)	57	61	13	1	3	40
20	Sibangi 2020 (30)	70	80	23	1	2	44
21	Mohammad 2021 (31)	60	60	36	2	3	19
22	Czekierdowski 2021 (32)**	36	36	9	0	17	10
23	Phinyo 2021 (33)	392	479	98	19	22	253
24	Bamniya 2021 (34)	124	124	24	2	6	92
25	Mongan 2021 (35)	29	29	18	2	4	5
26a	Hidalgo 2021 (SR) (36)***	54	100	11	1	1	41
26b	Hidalgo 2021 (SR three-step strategy) (36)***	100	100	16	1	2	81
27	Xie 2022 (37)	453	453	254	15	52	132

IOTA-SR, International Ovarian Tumor Analysis Simple Rules; TP, true positive; FN, false negative; FP, false positive; TN, true negative.

**Conducted in pregnant women

***Two-step analysis.

++Conducted in two centers.

represents the study weight. The gradient of the line was -0.02 [95% confidence interval (CI), -0.001 to -0.05], suggesting that the DOR decreased insignificantly by 0.02 per one unit of prevalence rate (p = 0.05).

The pooled sensitivity for the diagnosis of ovarian malignancies was 0.92 (95% CI, 0.89–0.94), as shown in Figure 5, while the pooled specificity was 0.92 (95% CI, 0.89–0.94) (Figures 6, 7). The DOR was 115.59 (95% CI, 83.33–160.34), as shown in Figure 8. Figure 8 displays



Tumor Analysis Simple Rules.

a ROC curve with an area under the curve (AUC) of 0.95 ($I^2 = 5.3\%$ in the abstract). In the sensitivity, specificity, and DOR analyses, the I^2 was 50.7%, 90.6%, and 52.9%, respectively, while Cochran's Q statistics p value was <0.01 in all, indicating heterogeneity. The generated funnel plot in Figure 9 was symmetrical (Egger's test, p = 0.19), indicating the absence of publication biases.

4 Discussion

The differential diagnosis of adnexal masses is a recognized problem in gynecological practice. To this end, statements on imaging, biomarkers, and prediction models for the preoperative diagnosis of ovarian cancers were collaboratively developed by the European Society of Gynaecological Oncology, the International Society of Ultrasound in Obstetrics and Gynecology, the IOTA group, and the European Society for Gynaecological Endoscopy (38). In this study, the efficacy of IOTA Simple Rules in differentiating benign from malignant adnexal tumors was investigated. The accuracy of IOTA in evaluating ovarian tumors was found to be relatively high.

Many USG technologies for the diagnosis of adnexal masses have been introduced worldwide. The introduction of imagistic exploration has hastened and enhanced USG diagnoses. The gynecologist must apply the IOTA to evaluate benign, borderline, and malignant adnexal masses (39, 40). The IOTA study is the most extensive work on the



accuracy of USG in diagnosing ovarian tumors. Ovarian tumors have been studied to better understand their morphology and duplex characteristics. The IOTA group was founded 15 years ago to develop a reliable algorithm for diagnosing ovarian cancer. The IOTA-SR is the first scoring system to rely on a set of five USG features indicative of a malignant ovarian tumor (M-features) and five USG features indicative of a benign tumor (B-features) (1).

In this review, the diagnostic performance of IOTA-SR was assessed for classifying benign or malignant ovarian tumors. It was found that the pooled sensitivity was 92% (95% CI, 0.89-0.94) and

Study	Events	Total		Proportion	95%-CI
Timmerman 2008 [9]	106	112		0.946	[0.887: 0.980]
Timmerman 2010[13]	340	369	+	0.921	[0.889; 0.947]
Fathallah 2011 [14]	8	11 -		0.727	[0.390: 0.940]
Hartman 2012 [15]	20	22	i	0.909	[0.708; 0.989]
Alcalzar 2013 [16]	29	33		0.879	[0.718; 0.966]
Sayasneh 2013 [17]	46	53		0.868	[0.747; 0.945]
Feharsal 2016 [18]	57	58	÷.,	0.983	[0.908; 1.000]
Nunes 2014 [19]	101	105	÷	0.962	[0.905; 0.990]
Tantipalakorn 2014 [20]	88	107		0.822	[0.737; 0.890]
Knafel 2014 (SR1) [21]	58	61		0.951	[0.863; 0.990]
Knafel 2014 (SR2) [21]	64	68		0.941	[0.856; 0.984]
Tinnangwattana 2015 [22]	25	28		0.893	[0.718; 0.977]
de Gauna 2015 (A) [23]	27	27		1.000	[0.872; 1.000]
de Gauna 2015 (B) [23]	11	13		0.846	[0.546; 0.981]
Garg 2017 [24]	11	12		0.917	[0.615; 0.998]
Auekitrungrueng 2019 [25]	98	117		0.838	[0.758; 0.899]
Dakhly 2019 (Inconclusive malignant) [26]	88	94		0.936	[0.866; 0.976]
Dakhly 2019 [26]	44	50		0.880	[0.757; 0.955]
Shetty 2019 [27]	26	37	· · · · · ·	0.703	[0.530; 0.841]
Solanki 2020 [10]	30	31		0.968	[0.833; 0.999]
Vilà Famada 2020 [28]	16	17		0.941	[0.713; 0.999]
Sharma 2020 [29]	13	14		0.929	[0.661; 0.998]
Sibangi 2020 [30]	23	24		0.958	[0.789; 0.999]
Mohammad 2021 [31]	36	38		0.947	[0.823; 0.994]
Czekierdowski 2021 [32]	9	9		1.000	[0.664; 1.000]
Phinyo 2021 [33]	98	117		0.838	[0.758; 0.899]
Bamniya 2021 [34]	24	26		0.923	[0.749; 0.991]
Mongan 2021 [35]	18	20		0.900	[0.683; 0.988]
Hidalgo 2021 (SR) [36]	11	12		0.917	[0.615; 0.998]
Hidalgo 2021 (SR three step strategy) [36]	16	17		0.941	[0.713; 0.999]
Xie 2022 [37]	254	269	-	0.944	[0.910; 0.968]
Random effects model		1971		0.917	[0.892; 0.936]
Heterogeneity: $I^2 = 51\%$, $\tau^2 = 0.2827$, $p < 0.01$				1	
		0	.4 0.5 0.6 0.7 0.8 0.9	1	
			Sensitivity		

FIGURE 5

Forest plot of the pooled sensitivity of the IOTA Simple Rules in the diagnosis of ovarian cancer. The dotted vertical line represents the pooled effect size point where the effect size in individual studies has a very different distribution (heterogeneity) around this line. The diamond at the bottom represents the pooled effect and its 95% CI. CI, confidence interval; IOTA, International Ovarian Tumor Analysis.

Study Events Total Proportion 95%-Cl Timmerman 2008 [9] 249 274 0.909 [0.868; 0.940] Timmerman 2010 [13] 1083 1132 0.957 [0.943; 0.968] Fathallah 2011 [14] 95 98 0.959 [0.943; 0.968] Hartman 2012 [15] 60 69 0.870 [0.767; 0.939] Alcalzar 2013 [16] 231 237 0.975 [0.946; 0.991] Sayasneh 2013 [17] 158 161 0.381 [0.947; 0.996] Feharsal 2016 [18] 45 61 0.381 [0.947; 0.996] Tantipalakorn 2014 [20] 202 212 0.935 [0.888; 0.977] Knafel 2014 (SR1) [21] 118 125 0.944 [0.888; 0.977] Tinnangwattana 2015 [22] 55 66 0.833 [0.721; 0.914] de Gauna 2015 (A) [23] 62 66 0.939 [0.852; 0.983] de Gauna 2015 (B) [23] 296 0.958 [0.897; 0.989] Dakhly 2019 [27] 144 0.924
Timmerman 2008 [9] 249 274 0.009 [0.868; 0.940] Timmerman 2010[13] 1083 1132 0.957 [0.943; 0.968] Fathallah 2011 [14] 95 98 0.969 [0.913; 0.994] Hartman 2012 [15] 60 69 0.875 [0.946; 0.991] Sayasneh 2013 [17] 158 161 0.975 [0.946; 0.991] Sayasneh 2013 [17] 158 61 0.986 [0.947; 0.996] Feharsal 2016 [18] 45 61 0.973 [0.946; 0.991] Munes 2014 [19] 117 132 0.886 [0.820; 0.935] Tantipalakom 2014 [20] 202 212 0.935 [0.915; 0.917] Knafel 2014 (SR1) [21] 118 125 0.944 [0.888; 0.977] Knafel 2014 (SR2) [21] 129 38 0.935 [0.880; 0.970] Tinnangwattana 2015 [22] 55 66 0.939 [0.852; 0.983] de Gauna 2015 [6] [23] 92 96 0.958 [0.897; 0.949] Jakhy 2019 [26] 253 275 0.900 [0.866; 0.942] Jakhy 2019 [27]
Timmerman 2010[13] 1083 1132 0.957 [0.943; 0.968] Fathallah 2011 [14] 95 98 0.969 [0.913; 0.994] Hartman 2012 [15] 60 69 0.870 [0.767; 0.939] Alcalzar 2013 [16] 231 237 0.975 [0.946; 0.991] Sayasneh 2013 [17] 158 161 0.981 [0.947; 0.996] Feharsal 2016 [18] 45 61 0.738 [0.609; 0.842] Nunes 2014 [19] 117 132 0.985 [0.947; 0.996] Tantipalakom 2014 [20] 202 212 0.985 [0.947; 0.976] Knafel 2014 (SR1) [21] 118 125 0.944 [0.888; 0.977] Knafel 2014 (SR2) [21] 129 138 0.944 [0.888; 0.977] Knafel 2014 (SR2) [21] 129 138 0.935 [0.880; 0.970] Tinnangwattana 2015 [22] 55 66 0.939 [0.852; 0.983] de Gauna 2015 (A) [23] 92 96 0.958 [0.897; 0.986] Garg 2017 [24] 28 33 0.725 [0.671; 0.775] Dakhly 2019 [26] </td
Fathallah 2011 [14] 95 98 0.969 [0.913; 0.994] Hartman 2012 [15] 60 69 0.870 [0.767; 0.939] Alcalzar 2013 [16] 231 237 0.975 [0.946; 0.991] Sayasneh 2013 [17] 158 161 0.981 [0.947; 0.996] Feharsal 2016 [18] 45 61 0.738 [0.609; 0.842] Nunes 2014 [19] 117 132 0.886 [0.820; 0.935] Tantipalakom 2014 [20] 202 212 0.953 [0.915; 0.977] Knafel 2014 (SR1) [21] 118 125 0.944 [0.888; 0.977] Knafel 2014 (SR2) [21] 129 138 0.935 [0.881; 0.970] Tinnangwattana 2015 [22] 55 66 0.939 [0.852; 0.983] de Gauna 2015 [A) [23] 92 96 0.938 [0.852; 0.983] Garg 2017 [24] 28 33 0.920 [0.881; 0.949] Auekitrungrueng 2019 [25] 253 275 0.920 [0.881; 0.949] Dakhy 2019 [10conclusive malignant) [26] 219 302 0.926 [0.866; 0.942]
Hartman 2012 [15] 60 69 69 6870 [0.767; 0.939] Alcalzar 2013 [16] 231 237 60 0.975 [0.946; 0.991] Sayasneh 2013 [17] 158 161 0.981 [0.947; 0.996] Feharsal 2016 [18] 45 61 0.935 [0.947; 0.996] Nunes 2014 [19] 117 132 0.935 [0.947; 0.996] Tantipalakom 2014 [20] 202 212 0.935 [0.917; 0.977] Knafel 2014 (SR1) [21] 118 125 0.944 [0.880; 0.977] Knafel 2014 (SR2) [21] 129 138 0.935 [0.880; 0.970] Tinnangwattana 2015 [22] 55 66 0.833 [0.721; 0.914] de Gauna 2015 (A) [23] 92 96 0.935 [0.881; 0.949] Aukhtrungrueng 2019 [25] 253 275 0.920 [0.881; 0.949] Dakhly 2019 [0.0culsive malignant] [26] 219 302 0.925 [0.666; 0.942] Dakhly 2019 [26] 220 242 0.909 [0.866; 0.942] Solanki 2020 [10] 133 144 0.922 [0.811;
Alcalzar 2013 [16] 231 237 0.975 [0.946; 0.991] Sayasneh 2013 [17] 158 161 0.981 [0.947; 0.996] Feharsal 2016 [18] 45 61 0.738 [0.609; 0.842] Nunes 2014 [19] 117 132 0.866 [0.820; 0.935] Tantipalakom 2014 [20] 202 212 0.953 [0.915; 0.977] Knafel 2014 (SR1) [21] 118 125 0.944 [0.880; 0.970] Tinnangwattana 2015 [22] 55 66 0.933 [0.710] Garg 2017 [24] 28 33 0.958 [0.897; 0.988] Garg 2017 [24] 28 33 0.925 [0.881; 0.949] Dakhy 2019 [nconclusive malignant) [26] 219 302 0.925 [0.881; 0.949] Dakhy 2019 [26] 220 242 0.900 [0.886; 0.942] 0.948 [0.681; 0.949] Dakhy 2019 [27] 144 146 0.920 [0.881; 0.949] 0.925 [0.671; 0.775] Dakhy 2019 [27] 144 146 0.926 [0.671; 0.776] 0.922 [0.811; 0.978] 0.922 [0.806; 0.942]
Sayasneh 2013 [17] 158 161 0.981 [0.947; 0.996] Feharsal 2016 [18] 45 61 0.738 [0.609; 0.842] Nunes 2014 [19] 117 132 0.886 [0.820; 0.935] Tantipalakom 2014 [20] 202 212 0.953 [0.915; 0.977] Knafel 2014 (SR1) [21] 118 125 0.944 [0.888; 0.977] Knafel 2014 (SR2) [21] 129 138 0.935 [0.881; 0.977] Tinnangwattana 2015 [22] 55 66 0.833 [0.721; 0.914] de Gauna 2015 [A) [23] 92 96 0.938 [0.887; 0.989] Garg 2017 [24] 28 33 0.920 [0.881; 0.949] Auekitrungrueng 2019 [25] 253 275 0.920 [0.881; 0.949] Dakhy 2019 [Inconclusive malignant) [26] 219 302 0.926 [0.871; 0.976] Dakhy 2019 [26] 220 242 0.909 [0.866; 0.942] 0.986 [0.951; 0.998] Solanki 2020 [10] 133 144 0.924 [0.867; 0.961] 0.936 [0.895; 0.965] [0.895; 0.985] [0.897; 0.852; 0.995]
Feharsal 2016 [18] 45 61 0.738 [0.609; 0.842] Nunes 2014 [19] 117 132 0.886 [0.820; 0.935] Tantipalakom 2014 [20] 202 212 0.935 [0.977] Knafel 2014 (SR1) [21] 118 125 0.944 [0.888; 0.977] Knafel 2014 (SR2) [21] 129 138 0.935 [0.880; 0.970] Tinnangwattana 2015 [22] 55 66 0.833 [0.721; 0.914] de Gauna 2015 (A) [23] 92 96 0.935 [0.887; 0.989] Garg 2017 [24] 28 33 0.848 [0.681; 0.949] Auekitrungrueng 2019 [25] 253 275 0.920 [0.881; 0.949] Dakhy 2019 [26] 220 242 0.909 [0.866; 0.942] Dakhy 2019 [26] 220 242 0.909 [0.866; 0.942] Solanki 2020 [10] 143 144 0.924 [0.807; 0.961] Vilà Famada 2020 [28] 47 51 0.922 [0.811; 0.978] Shatma 2020 [29] 40 43 0.930 [0.809; 0.985] Shama 2020 [29] <td< td=""></td<>
Nunes 2014 [19] 117 132 0.866 [0.820; 0.935] Tantipalakom 2014 [20] 202 212 0.933 [0.915; 0.977] Knafel 2014 (SR2) [21] 118 125 0.944 [0.880; 0.970] Knafel 2014 (SR2) [21] 129 138 0.935 [0.880; 0.970] Tinnangwattana 2015 (A) [23] 62 66 0.939 [0.882; 0.983] de Gauna 2015 (A) [23] 92 96 0.958 [0.897; 0.989] Garg 2017 [24] 28 33 0.958 [0.897; 0.989] Auekitrungrueng 2019 [25] 253 275 0.920 [0.866; 0.942] Dakhly 2019 [Inconclusive malignant) [26] 219 302 0.725 [0.671; 0.775] Dakhly 2019 [27] 144 146 0.990 [0.866; 0.942] Shetty 2019 [27] 143 144 0.922 [0.811; 0.978] Sharma 2020 [29] 40 43 0.992 [0.866; 0.942] Shetty 2019 [27] 144 146 0.922 [0.811; 0.978] Sharma 2020 [29] 40 43 0.922 [0.811; 0.978] <t< td=""></t<>
Tantipalakorn 2014 [20] 202 212 0.953 [0.915; 0.977] Knafel 2014 (SR2) [21] 118 125 0.944 [0.888; 0.977] Knafel 2014 (SR2) [21] 129 138 0.935 [0.888; 0.977] Tinnangwattana 2015 [22] 55 66 0.933 [0.721; 0.914] de Gauna 2015 (A) [23] 92 96 0.938 [0.882; 0.983] de Gauna 2015 (B) [23] 92 96 0.988 [0.887; 0.989] Garg 2017 [24] 28 33 0.944 [0.881; 0.949] Auekitrungrueng 2019 [25] 253 275 0.920 [0.881; 0.949] Dakhy 2019 (Inconclusive malignant) [26] 219 302 0.920 [0.881; 0.949] Dakhy 2019 [26] 220 242 0.909 [0.866; 0.942] Shetty 2019 [27] 144 146 0.924 [0.867; 0.961] Solanki 2020 [10] 133 144 0.924 [0.867; 0.961] Vilà Famada 2020 [28] 47 51 0.930 [0.809; 0.985] Sibangi 2020 [30] 44 46 0.937 [0.852; 0.995]
Knafel 2014 (SR1) [21] 118 125 0.944 [0.888; 0.977] Knafel 2014 (SR2) [21] 129 138 0.935 [0.880; 0.970] Tinnangwattana 2015 [22] 55 66 0.935 [0.880; 0.970] de Gauna 2015 (A) [23] 62 66 0.935 [0.880; 0.970] de Gauna 2015 (B) [23] 92 96 0.958 [0.897; 0.989] Garg 2017 [24] 28 33 0.848 [0.681; 0.949] Auekitrungrueng 2019 [25] 253 275 0.920 [0.881; 0.949] Dakhly 2019 [26] 220 242 0.909 [0.866; 0.942] Dakhly 2019 [27] 144 146 0.924 [0.687; 0.961] Solanki 2020 [10] 133 144 0.924 [0.867; 0.961] Vilà Famada 2020 [28] 47 51 0.922 [0.811; 0.978] Sharma 2020 [29] 40 43 0.930 [0.809; 0.985] Sibangi 2020 [30] 44 46 0.931 [0.809; 0.985] Sharma 2020 [29] 40 43 0.930 [0.809; 0.985] Sharma 2020 [29] 40 43 0.930 [0.809; 0.985] Sharma 2020 [29] 40 43 0.930 [0.809; 0.985]
Knafel 2014 (SR2) [21] 129 138 0.935 [0.880; 0.970] Tinnangwattana 2015 (A) [23] 55 66 0.833 [0.721; 0.914] de Gauna 2015 (A) [23] 92 96 0.935 [0.880; 0.970] Garg 2017 [24] 28 33 0.935 [0.880; 0.970] Auekitrungrueng 2015 (B) [23] 92 96 0.958 [0.897; 0.989] Garg 2017 [24] 28 33 0.848 [0.681; 0.949] Auekitrungrueng 2019 [25] 253 275 0.920 [0.866; 0.942] Dakhly 2019 [nconclusive malignant) [26] 219 302 0.725 [0.671; 0.775] Dakhly 2019 [27] 144 146 0.909 [0.866; 0.942] Shetty 2019 [27] 143 144 0.924 [0.867; 0.961] Vilà Famada 2020 [28] 47 51 0.922 [0.811; 0.978] Sharma 2020 [29] 40 43 0.957 [0.852; 0.995] Mohammad 2021 [31] 19 22 0.370 [0.946] [0.651; 0.971] Czekierdowski 2021 [32] 10 27 0.864 [0.651; 0.971]
Tinnangwattana 2015 [22] 55 66
de Gauna 2015 (A) [23] 62 66
de Gauna 2015 (B) [23] 92 96 0.958 [0.897; 0.989] Garg 2017 [24] 28 33 0.848 [0.681; 0.949] Auekitrungrueng 2019 [25] 253 275 0.920 [0.847; 0.948] Dakhly 2019 (Inconclusive malignant) [26] 219 302 0.725 [0.671; 0.775] Dakhly 2019 [27] 144 146 0.909 [0.866; 0.942] Shetty 2019 [27] 144 146 0.924 [0.867; 0.961] Vilà Famada 2020 [28] 47 51 0.922 [0.811; 0.978] Sharma 2020 [29] 40 43 0.930 [0.805; 0.945] Sibangi 2020 [30] 44 46 0.957 [0.852; 0.995] Mohammad 2021 [31] 19 22 0.844 [0.651; 0.971] Czekierdowski 2021 [32] 10 27 0.370 [0.194; 0.576] Phinyo 2021 [33] 253 275 0.930 [0.871; 0.977] Banmiya 2021 [34] 92 98 <
Garg 2017 [24] 28 33 0.848 [0.681; 0.949] Auekitrungrueng 2019 [25] 253 275 0.920 [0.881; 0.949] Dakhy 2019 [10 (Inconclusive malignant) [26] 219 302 0.920 [0.881; 0.949] Dakhy 2019 [26] 220 242 0.909 [0.866; 0.942] Shetty 2019 [27] 144 146 0.924 [0.867; 0.961] Solanki 2020 [10] 133 144 0.924 [0.867; 0.961] Vilà Famada 2020 [28] 47 51 0.923 [0.809; 0.985] Sibangi 2020 [20] 40 43 0.930 [0.809; 0.985] Sibangi 2020 [20] 40 43 0.930 [0.809; 0.985] Mohammad 2021 [31] 19 22 0.864 [0.651; 0.971] Czekierdowski 2021 [32] 10 27 0.876 [0.852; 0.995] Phinyo 2021 [33] 253 275 0.930 [0.871; 0.977] Bamniya 2021 [34] 92 98 939 [0.871; 0.977] Moname 2021 [34] 92 98 0.939 [0.871; 0.977]
Auekitrungrueng 2019 [25] 253 275 9.920 [0.881; 0.949] Dakhly 2019 [loconclusive malignant) [26] 219 302 0.725 [0.671; 0.775] Dakhly 2019 [27] 144 146 9.996 [0.951; 0.998] Solanki 2020 [10] 133 144 9.922 [0.807; 0.961] Vilà Famada 2020 [28] 47 51 9.922 [0.807; 0.961] Sharga 2020 [29] 40 43 9.930 [0.809; 0.985] Shanga 2020 [20] 44 46 9.930 [0.809; 0.985] Mohammad 2021 [31] 19 22 0.864 [0.651; 0.971] Czekierdowski 2021 [32] 10 27 0.370 [0.194; 0.576] Phinyo 2021 [33] 253 275 9.939 [0.871; 0.973] Bamniya 2021 [34] 92 98 9.939 [0.871; 0.973] Moname 2021 [35] 5 9 9.939 [0.871; 0.973]
Dakhly 2019 (Inconclusive malignant) [26] 219 302 - 0.725 [0.671; 0.775] Dakhly 2019 [26] 220 242 - 0.909 [0.866; 0.942] Shetty 2019 [27] 144 146 - 0.924 [0.867; 0.961] Solanki 2020 [10] 133 144 - 0.924 [0.867; 0.961] Vila Famada 2020 [28] 47 51 - 0.922 [0.811; 0.978] Sharma 2020 [29] 40 43 - 0.930 [0.809; 0.985] Sibangi 2020 [30] 44 46 - 0.957 [0.852; 0.995] Mohammad 2021 [31] 19 22 - 0.864 [0.651; 0.971] Czekierdowski 2021 [32] 10 27 - 0.870 [0.194; 0.576] Phinyo 2021 [33] 253 275 - 0.930 [0.871; 0.977] Bamniya 2021 [34] 92 98 - 0.939 [0.871; 0.977] Monama 2021 [35] 5 9 - 0.930 [0.871; 0.977]
Dakhy 2019 [26] 220 242 0.909 [0.866; 0.942] Shetty 2019 [27] 144 146 0.986 [0.998] Solanki 2020 [10] 133 144 0.924 [0.866; 0.942] Vila Famada 2020 [28] 47 51 0.922 [0.811; 0.978] Sharma 2020 [29] 40 43 0.930 [0.809; 0.985] Sibangi 2020 [30] 44 46 0.957 [0.852; 0.995] Mohammad 2021 [31] 19 22 0.864 [0.651; 0.971] Czekierdowski 2021 [32] 10 27 0.370 [0.194; 0.576] Phinyo 2021 [33] 253 275 0.930 [0.871; 0.977] Barmiya 2021 [34] 92 98 0.939 [0.871; 0.977] Monama 2021 5 9 0.939 [0.871; 0.977] Monana
Shetty 2019 [27] 144 146 0.986 [0.951; 0.998] Solanki 2020 [10] 133 144
Solanki 2020 [10] 133 144
Vilà Famada 2020 [28] 47 51 0.922 [0.811; 0.978] Sharma 2020 [29] 40 43 0.930 [0.809; 0.985] Sibangi 2020 [30] 44 46 0.957 [0.852; 0.995] Mohammad 2021 [31] 19 22 0.864 [0.651; 0.971] Czekierdowski 2021 [32] 10 27 0.370 [0.194; 0.576] Phinyo 2021 [33] 253 275 0.930 [0.871; 0.977] Bamniya 2021 [34] 92 98 0.939 [0.871; 0.977] Monama 5 9 0.939 [0.871; 0.976]
Sharma 2020 [29] 40 43 0.930 [0.809; 0.985] Sibangi 2020 [30] 44 46 0.957 [0.852; 0.995] Mohammad 2021 [31] 19 22 0.864 [0.651; 0.971] Czekierdowski 2021 [32] 10 27 0.370 [0.194] (0.576] Phinyo 2021 [33] 253 275 0.930 [0.871; 0.977] Bamniya 2021 [34] 92 98 -1 0.939 [0.871; 0.977] Moorana 2021 [35] 5 9 -1 0.939 [0.871; 0.977]
Sibangi 2020 [30] 44 46 0.957 [0.852; 0.995] Mohammad 2021 [31] 19 22 0.864 [0.651; 0.971] Czekierdowski 2021 [32] 10 27 0.370 [0.194; 0.576] Phinyo 2021 [33] 253 275 0.930 [0.871; 0.977] Bamniya 2021 [34] 92 98 0.939 [0.871; 0.977] Mongene 2021 [35] 5 9 0.939 [0.871; 0.977]
Mohammad 2021 [31] 19 22 0.864 [0.651; 0.971] Czekierdowski 2021 [32] 10 27 0.370 [0.194; 0.576] Phinyo 2021 [33] 253 275 0.920 [0.871; 0.947] Banniya 2021 [34] 92 98 0.939 [0.871; 0.977] Monana 2021 [35] 5 9 0.939 [0.871; 0.977]
Czekierdowski 2021 [32] 10 27 0.370 [0.194; 0.576] Phinyo 2021 [33] 253 275 0.920 [0.881; 0.949] Bamniya 2021 [34] 92 98 0.939 [0.871; 0.977] Monran 2021 [35] 5 9 0.939 [0.871; 0.977]
Phinyo 2021 [33] 253 275 0.920 [0.881; 0.949] Bamniya 2021 [34] 92 98 - 0.939 [0.871; 0.977] Monran 2021 [35] 5 9 - 0.939 [0.871; 0.977]
Bamniya 2021 [34] 92 98 - 0.939 [0.871; 0.977] Mongan 2021 [35] 5 9 - 0.556 [0.212: 0.863]
Mongan 2021 [35] 5 9
Hidago 2021 (SR) [36] 41 42 - 0.976 [0.874; 0.999]
Hidalgo 2021 (SR three step strategy) [36] 81 83 0.976 [0.916; 0.997]
Xie 2022 [37] 132 184 0.717 [0.646; 0.781]
Random effects model 4889 0.919 [0.886; 0.943] Heterogeneity: $l^2 = 91\%$, $\tau^2 = 0.9362$, $p < 0.01$
0.2 0.4 0.6 0.8

FIGURE 6

Forest plot of the pooled specificity of IOTA-SR in the diagnosis of ovarian cancer. The dotted vertical line represents the pooled effect size point where the effect size in individual studies has a very different distribution (heterogeneity) around this line. The diamond at the bottom represents the pooled effect and its 95% CI. CI, confidence interval; IOTA-SR, International Ovarian Tumor Analysis Simple Rules.

	Evenening	antal	<u> </u>				
Study	Events	Total	Events	Total	Odds Ratio	OR	95%-CI
Timmerman 2008 [9]	106	131	6	255	. in .	175 960	70 155 441 225
Timmerman 2000 [9]	340	380	29	1112	1	259 127	[161 134: 416 716]
Fathallah 2011 [14]	8	11	20	98		84 444	[14 595: 488 598]
Hartman 2012 [15]	20	29	2	62		66 667	[13 278 334 718]
Alcalzar 2013 [16]	20	35	4	235		279 125	[74 358: 1047 773]
Savasneh 2013 [17]	46	49	7	165		346 095	[86.049: 1392.015]
Febarsal 2016 [18]	57	73	1	46		160.312	[20 479: 1254 972]
Nunes 2014 [19]	101	116	4	121		196,950	[63.329: 612.504]
Tantipalakorn 2014 [20]	88	98	19	221		93.558	[41.803: 209.387]
Knafel 2014 (SR1) [21]	58	65	3	121		325,905	[81.293: 1306.554]
Knafel 2014 (SR2) [21]	64	73	4	133		229.333	[68.024: 773.166]
Tinnangwattana 2015 [22]	25	36	3	58	:	41.667	[10.680; 162.557]
de Gauna 2015 (A) [23]	27	31	0	62		763.889	[39.744; 14682.141]
de Gauna 2015 (B) [23]	11	15	2	94		126.500	[20.725; 772.112]
Garg 2017 [24]	11	16	1	29		61.600	[6.444; 588.826]
Auekitrungrueng 2019 [25]	98	120	19	272		59.316	[30.761; 114.379]
Dakhly 2019 (Inconclusive malignant) [26]	88	171	6	225	-	38.699	[16.299; 91.883]
Dakhly 2019 [26]	44	66	6	226	-	73.333	[28.108; 191.327]
Shetty 2019 [27]	26	28	11	155	- <u>ia</u>	170.182	[35.638; 812.664]
Solanki 2020 [10]	30	41	1	134		362.727	[45.085; 2918.265]
Vilà Famada 2020 [28]	16	20	1	48		188.000	[19.548; 1808.024]
Sharma 2020 [29]	13	16	1	41		173.333	[16.562; 1814.012]
Sibangi 2020 [30]	23	25	1	45		506.000	[43.540; 5880.488]
Mohammad 2021 [31]	36	39	2	21		114.000	[17.508; 742.279]
Czekierdowski 2021 [32]	9	26	0	10		11.400	[0.600; 216.708]
Phinyo 2021 [33]	98	120	19	272	=	59.316	[30.761; 114.379]
Bamniya 2021 [34]	24	30	2	94		184.000	[34.910; 969.809]
Mongan 2021 [35]	18	22	2	7		11.250	[1.576; 80.300]
Hidalgo 2021 (SR) [36]	11	12	1	42	- <u>; -</u>	451.000	[26.073; 7801.353]
Hidalgo 2021 (SR three step strategy) [36]	16	18	1	82		648.000	[55.383; 7581.797]
Xie 2022 [37]	254	306	15	147		42.985	[23.316; 79.246]
Random effects model		2227		4633	· · · · · · · · · · · · · · · · · · ·	115.592	[83.334; 160.336]
Heterogeneity: $I^{*} = 53\%$, $\tau^{*} = 0.3391$, $p < 0.01$					0.001 0.1 1 10 1000		
					0.001 0.1 1 10 1000		
					Diaunostic Odds Ratio		

FIGURE 7

Forest plot of the pooled DOR of IOTA-SR in the diagnosis of ovarian cancer. The dotted vertical line represents the pooled effect size point where the effect size in individual studies has a very different distribution (heterogeneity) around this line. The diamond at the bottom represents the pooled effect and its 95% CI. OR, odds ratio; CI, confidence interval; DOR, diagnostic odds ratio; IOTA-SR, International Ovarian Tumor Analysis Simple Rules.



the summary receiver operating characteristic (SROC) curve of 101A-SR in the diagnosis of ovarian cancer. CI, confidence interval; AUC, area under the curve; IOTA-SR, International Ovarian Tumor Analysis Simple Rules.

that the pooled specificity was 92% (95% CI, 0.89–0.94). These results align with a previous meta-analysis by Nunes et al., who reported that the IOTA-SR is a reliable triage test for USG operators with varying experience levels and has a pooled sensitivity of 93% and a specificity of 95% when they are applicable (19). This finding is compatible with a previous meta-analysis with a large sample size of adnexal masses that reported 93% and 80% sensitivity and specificity for IOTA-SR, respectively (41). Another previous study on the external validation of IOTA-SR reported 94.3% and 94.9% overall sensitivity and specificity, respectively (42). A previous study reported that subjective assessment based on USG and IOTA may offer superior value to tumor markers, such as cancer antigen 125 (CA-125) and human epididymis protein 4 (HE4) assessment in complex adnexal masses (43). Furthermore, another study reported that the IOTA-SR had a high diagnostic accuracy compared to the risk of malignancy index (RMI) in distinguishing benign from malignant ovarian tumors (25).

Despite the excellent performance and simplicity of IOTA-SR, they have a significant limitation: they cannot be applied in all cases of adnexal masses (11). Tantipalakorn et al. reported that the IOTA-SR could be applicable in 80.1% of adnexal masses (20), and Lee et al. reported that IOTA-SR could be applicable in 80% of adnexal masses but was inconclusive (1). Nunes et al. reported that IOTA-SR was applicable in 78.2% with 96.2% sensitivity and 88.6%



specificity (19). These meta-analysis results showed that IOTA-SR was applicable in 85.7% of adnexal masses in the included studies.

Ultimately, for accurate presurgical diagnosis of adnexal masses, the American College of Obstetricians and Gynecologists recommends "a multivariable approach by combining demographic, clinical, imaging, and laboratory parameters to perform the best diagnosis" (44).

Several studies have assessed the performance of IOTA-SR in combination with biomarkers to enhance the diagnostic accuracy of ovarian mass assessments. A study on 479 pre- and postmenopausal women reported that a combination of CA-125 and IOTA-SR models had better diagnostic value in differentiating malignant from benign ovarian tumors with AUCs of 0.94 and 0.98, respectively (33). Jha et al. found that the utilization of both IOTA Simple Rules and CA-125 exhibited exceptional diagnostic efficacy in distinguishing between benign and malignant ovarian tumors, surpassing the use of either CA-125 or IOTA Simple Rules individually (AUC of 0.94 for the combination tool; IOTA-SR + CA-125) (45). A study conducted by Xie et al. to assess the efficacy of the IOTA Simple Rules, Ovarian-Adnexal Reporting and Data System (O-RADS), and CA-125 in discerning between benign and malignant adnexal masses was examined. The findings indicated no notable variance in diagnostic precision when employing a combination of two approaches, specifically, IOTA-SR and CA-125 versus O-RADS and CA-125. As a result, the authors suggest using either IOTA-SR or O-RADS in conjunction with CA-125 to distinguish between benign and malignant lesions prior to surgery (37). Other studies have found that the integration of IOTA Simple Rules with established tumor markers (CA-125 and HE4) enhances the precision of diagnosing malignant ovarian masses before surgery (46).

The main strength of the current study is that it includes many previous studies without significant bias, as indicated in the analysis (Figure 9), thus improving diagnostic accuracy. However, the study must acknowledge a few limitations because heterogeneity was found among the studies selected, as evidenced by Cochran's Q statistics; inconsistencies and disparities in the study population's characteristics and variations in the percentage of malignancies across the selected population were the main contributors to this heterogeneity.

There is a lack of studies in the Gulf and low-income countries on the application of IOTA-SR in ovarian tumors, which underscores a gap in knowledge and practices on this topic. The IOTA-SR criteria significantly influence international literature; these criteria offer good sensitivity and specificity in distinguishing between benign and malignant ovarian tumors. They reduce the need for expensive diagnostic procedures, such as MRI or CT, guide patient care, and empower medical professionals to opt for surgery, monitoring, or further imaging, ultimately improving patient outcomes. The education and training of ultrasound practitioners on IOTA-SR reduce interobserver variability and encourage uniform diagnostic procedures across regions. The IOTA's clinical significance is supported by this systematic review and meta-analysis, serving as a roadmap for future research in ovarian cancer, particularly in the Gulf and low-resource countries.

5 Conclusion

In conclusion, this meta-analysis demonstrated that IOTA-SR is highly effective in the presurgical differentiation of malignant from benign adnexal masses. The IOTA Simple Rules is an effective test for detecting ovarian malignancies with a pooled sensitivity of 92% (95% CI, 0.89–0.94) and a pooled specificity of 92% (95% CI, 0.89–0.94).

Author contributions

AG: Funding acquisition, Writing - original draft, Writing review & editing, Conceptualization, Formal analysis, Methodology. MG: Conceptualization, Formal analysis, Funding acquisition, Methodology, Supervision, Writing - original draft, Writing - review & editing. SAA: Conceptualization, Funding acquisition, Methodology, Project administration, Supervision, Writing - original draft, Writing review & editing. AA: Conceptualization, Formal analysis, Funding acquisition, Validation, Visualization, Writing - original draft, Writing - review & editing. ME: Funding acquisition, Methodology, Supervision, Writing - original draft, Writing - review & editing. WA: Funding acquisition, Investigation, Methodology, Software, Writing - review & editing. ID: Conceptualization, Data curation, Funding acquisition, Project administration, Resources, Writing original draft. SA: Data curation, Funding acquisition, Methodology, Project administration, Writing - original draft, Writing - review & editing. MAI: Funding acquisition, Project administration, Software, Writing - original draft. EA: Data curation, Funding acquisition, Investigation, Resources, Visualization, Writing - review & editing. FHA: Conceptualization, Funding acquisition, Investigation, Software, Writing - review & editing. RAA: Data curation, Funding acquisition, Investigation, Project administration, Software, Writing - review & editing. MK: Supervision, Validation, Visualization, Writing - review & editing. ZYH: Funding acquisition, Supervision, Validation, Visualization, Writing - original draft, Writing - review & editing. MAd: Supervision, Validation, Writing - review & editing, Conceptualization.

Funding

The author(s) declare financial support was received for the research, authorship, and/or publication of this article. The authors extend their appreciation to the Deanship of Research and Graduate Studies at King Khalid University for funding this work through Large Research Project under grant number RGP2/431/45.

Conflict of interest

The authors declare that the research was conducted in the absence of any commercial or financial relationships that could be construed as a potential conflict of interest.

Publisher's note

All claims expressed in this article are solely those of the authors and do not necessarily represent those of their affiliated

References

1. Lee SJ, Oh HR, Na S, Hwang HS, Lee SM. Ultrasonographic ovarian mass scoring system for predicting Malignancy in pregnant women with ovarian mass. *Obstet Gynecol Sci.* (2022) 65:1–13. doi: 10.5468/ogs.21212

2. Curtin JP. Management of the adnexal mass. Gynecol Oncol. (1994) 55:S42-6. doi: 10.1006/gyno.1994.1340

3. Ferlay J, Steliarova-Foucher E, Lortet-Tieulent J, Rosso S, Coebergh JW, Comber H, et al. Cancer incidence and mortality patterns in Europe: Estimates for 40 countries in 2012. *Eur J Cancer*. (2013) 49:1374–403. doi: 10.1016/j.ejca.2012.12.027

4. Abramowicz JS, Timmerman D. Ovarian mass-differentiating benign from Malignant: The value of the International Ovarian Tumor Analysis ultrasound rules. *Am J Obstet Gynecol.* (2017) 217:652–60. doi: 10.1016/j.ajog.2017.07.019

5. Sadowski EA, Paroder V, Patel-Lippmann K, Robbins JB, Barroilhet L, Maddox E, et al. Indeterminate adnexal cysts at US: prevalence and characteristics of ovarian cancer. *Radiology*. (2018) 287:1041–9. doi: 10.1148/radiol.2018172271

6. Froyman W, Landolfo C, De Cock B, Wynants L, Sladkevicius P, Testa AC, et al. Risk of complications in patients with conservatively managed ovarian tumours (IOTA5): A 2-year interim analysis of a multicentre, prospective, cohort study. *Lancet Oncol.* (2019) 20:448–58. doi: 10.1016/S1470-2045(18)30837-4

7. Timmerman D, Van Calster B, Testa A, Savelli L, Fischerova D, Froyman W, et al. Predicting the risk of Malignancy in adnexal masses based on the Simple Rules from the International Ovarian Tumor Analysis group. *Am J Obstet Gynecol.* (2016) 214:424–37. doi: 10.1016/j.ajog.2016.01.007

8. Suh-Burgmann E, Brasic N, Jha P, Hung YY, Goldstein RB. Ultrasound characteristics of early-stage high-grade serous ovarian cancer. Am J Obstet Gynecol. (2021) 225(4):409.e1-409.e8. doi: 10.1016/j.ajog.2021.04.262

9. Timmerman D, Testa AC, Bourne T, Ameye L, Jurkovic D, Van Holsbeke C, et al. Simple ultrasound-based rules for the diagnosis of ovarian cancer. *Ultrasound Obstet Gynecol.* (2008) 31:681–90. doi: 10.1002/uog.v31:6

10. Solanki V, Singh P, Sharma C, Ghuman N, Sureka B, Shekhar S, et al. Predicting Malignancy in adnexal masses by the international ovarian tumor analysis-simple rules. *J Mid-life Health.* (2020) 11:217–23. doi: 10.4103/jmh.JMH_103_20

11. Kaijser J. Towards an evidence-based approach for diagnosis and management of adnexal masses: findings of the International Ovarian Tumour Analysis (IOTA) studies. *Facts Views Vis Obgyn.* (2015) 7:42–59.

12. Whiting PF, Rutjes AW, Westwood ME, Mallett S, Deeks JJ, Reitsma JB, et al. QUADAS-2 Group QUADAS-2: a revised tool for the quality assessment of diagnostic accuracy studies. *Ann Intern Med.* (2011) 155:529–36. doi: 10.7326/0003-4819-155-8-201110180-00009

13. Timmerman D, Ameye L, Fischerova D, Epstein E, Melis GB, Guerriero S, et al. Simple ultrasound rules to distinguish between benign and Malignant adnexal masses before surgery: prospective validation by IOTA group. *Bmj.* (2010) 341:c6839. doi: 10.1136/bmj.c6839

14. Fathallah K, Huchon C, Bats AS, Metzger U, Lefrere-Belda MA, Bensaid C, et al. External validation of simple ultrasound rules of Timmerman on 122 ovarian tumors. *Gynecol Obstetrique Fertilite*. (2011) 39:477–81. doi: 10.1016/j.gyobfe.2011.05.007

15. Hartman CA, Juliato CR, Sarian LO, Toledo MC, Jales RM, Morais SS, et al. Ultrasound criteria and CA 125 as predictive variables of ovarian cancer in women with adnexal tumors. *Ultrasound Obstetrics Gynecol.* (2012) 40:360–6. doi: 10.1002/uog.11201

16. Alcázar JL, Pascual MA, Olartecoechea B, Graupera B, Auba M, Ajossa S, et al. IOTA simple rules for discriminating between benign and Malignant adnexal masses: prospective external validation. *Ultrasound Obstetrics Gynecol.* (2013) 42:467–71. doi: 10.1002/uog.12485

17. Sayasneh A, Wynants L, Preisler J, Kaijser J, Johnson S, Stalder C, et al. Multicentre external validation of IOTA prediction models and RMI by operators with varied training. *Br J Cancer*. (2013) 108:2448–54. doi: 10.1038/bjc.2013.224

18. Feharsal Y, Putra AD. International ovarian tumor analysis (IOTA) scoring system to predict ovarian Malignancy preoperatively. *Indonesian J Obstetrics Gynecol.* (2016) 14:42–6. doi: 10.32771/inajog.v4i1.71

19. Nunes N, Ambler G, Foo X, Naftalin J, Widschwendter M, Jurkovic D. Use of IOTA simple rules for diagnosis of ovarian cancer: meta-analysis. *Ultrasound Obstetrics Gynecol.* (2014) 44:503–14. doi: 10.1002/uog.13437

20. Tantipalakorn C, Wanapirak C, Khunamornpong S, Sukpan K, Tongsong T. IOTA simple rules in differentiating between benign and Malignant ovarian tumors. *Asian Pac J Cancer Prev.* (2014) 15:5123–6. doi: 10.7314/apjcp.2014.15.13.5123

organizations, or those of the publisher, the editors and the reviewers. Any product that may be evaluated in this article, or claim that may be made by its manufacturer, is not guaranteed or endorsed by the publisher.

21. Knafel A, Banas T, Nocun A, Wiechec M, Jach R, Ludwin A, et al. The prospective external validation of international ovarian tumor analysis (IOTA) simple rules in the hands of level I and II examiners. *Ultraschall Der Medizin-European J Ultrasound*. (2016) 37:516–23. doi: 10.1055/s-0034-1398773

22. Tinnangwattana D, Vichak-Ururote L, Tontivuthikul P, Charoenratana C, Lerthiranwong T, Tongsong T. IOTA simple rules in differentiating between benign and Malignant adnexal masses by non-expert examiners. *Asian Pacific J Cancer Prev.* (2015) 16:3835–8. doi: 10.7314/APJCP.2015.16.9.3835

23. de Gauna BR, Rodriguez D, Olartecoechea B, Aubá M, Jurado M, Roig MD, et al. Diagnostic performance of IOTA simple rules for adnexal masses classification: a comparison between two centers with different ovarian cancer prevalence. *Eur J Obstetrics Gynecol Reprod Biol.* (2015) 191:10–4. doi: 10.1016/j.ejogrb.2015.05.024

24. Garg S, Kaur A, Mohi JK, Sibia PK, Kaur N. Evaluation of IOTA simple ultrasound rules to distinguish benign and Malignant ovarian tumours. *J Clin Diagn Res: JCDR*. (2017) 11:TC06. doi: 10.7860/JCDR/2017/26790.10353

25. Auekitrungrueng R, Tinnangwattana D, Tantipalakorn C, Charoenratana C, Lerthiranwong T, Wanapirak C, et al. Comparison of the diagnostic accuracy of International Ovarian Tumor Analysis simple rules and the risk of Malignancy index to discriminate between benign and Malignant adnexal masses. *Int J Gynecol Obstetrics*. (2019) 146:364–9. doi: 10.1002/ijgo.12891

26. Dakhly DM, Gaafar HM, Sediek MM, Ibrahim MF, Momtaz M. Diagnostic value of the International Ovarian Tumor Analysis (IOTA) simple rules versus pattern recognition to differentiate between Malignant and benign ovarian masses. *Int J Gynecol Obstetrics*. (2019) 147:344–9. doi: 10.1002/ijgo.12970

27. Shetty J, Saradha A, Pandey D, Bhat R, Kumar P, Bharatnur S. IOTA simple ultrasound rules for triage of adnexal mass: Experience from South India. *J Obstetrics Gynecol India*. (2019) 69:356–62. doi: 10.1007/s13224-019-01229-z

28. Vilà Famada A, Pina Pérez S, Jurado Seguer J, Lleberia Juanos J, Costa Pueyo J. Validation of IOTA ultrasound criteria in clinical practice with tumor markers and pathology. *Rev Peru Ginecol Obstet.* (2020) 66(3). doi: 10.31403/rpgo.v66i2262

29. Sharma B, Arora N, Acharya R, Gupta V, Sharma A, Saxena N, et al. and Sharma, R., Evaluation of simple International ovarian tumor analysis ultra sound rules in differentiating between benign and Malignant ovarian tumors and their histopathological correlation. *Int J Reproduction Contraception Obstetrics Gynecol.* (2020) 9:652–9. doi: 10.18203/2320-1770.ijrcog20200353

30. Sibangi P, Radhakanta P, Sasmita P. Characterization of adnexal masses on grey scale sonography and color doppler imaging using simple IOTA (International ovarian tumour analysis) rules. *Ann Int Med Dental Res.* (2020) 7:6–10.

31. Mohammed R, Mohammadreza K, MAnizhe A, Farnaz A, Setare N. Diagnostic value of international ovarian tumor analysis simple rules (IOTA-SR) in Iranian patients with ovarian mass. *P J M H S*. (2021) 15:1647. doi: 10.53350/pjmhs211551647

32. Czekierdowski A, Stachowicz N, Smoleń A, Kluz T, Łoziński T, Miturski A, et al. Sonographic assessment of complex ultrasound morphology adnexal tumors in pregnant women with the use of IOTA simple rules risk and ADNEX scoring systems. *Diagnostics*. (2021) 11:414. doi: 10.3390/diagnostics11030414

33. Phinyo P, Patumanond J, Saenrungmuaeng P, Chirdchim W, Pipanmekaporn T, Tantraworasin A, et al. Diagnostic added-value of serum CA-125 on the IOTA simple rules and derivation of practical combined prediction models (IOTA SR X CA-125). *Diagnostics*. (2021) 11:173. doi: 10.3390/diagnostics11020173

34. Bamniya J, Singh P, Patel D, Chaudhary A, Ladola H. Diagnostic performance of international ovarian tumor analysis-simple rules versus risk Malignancy index 2 scoring system to differentiate between benign and Malignant adnexal masses. *Thai J Obstetrics Gynaecol.* (2021) 1:331–9. doi: 10.14456/tjog.2021.39

35. Mongan SP, Sutandar Y, Laihad BJ. The comparison of diagnostic accuracy of risk of Malignancy index to IOTA simple rules in diagnosing adnexal masses. *Bali Med J.* (2021) 10:783–876. doi: 10.15562/bmj.v10i2.2591

36. Hidalgo JJ, Llueca A, Zolfaroli I, Veiga N, Ortiz E, Alcázar JL. Comparison of IOTA three-step strategy and logistic regression model LR2 for discriminating between benign and Malignant adnexal masses. *Med Ultrasonography.* (2021) 23:168–75. doi: 10.11152/mu-2732

37. Xie WT, Wang YQ, Xiang ZS, Du ZS, Huang SX, Chen YJ, et al. Efficacy of IOTA simple rules, O-RADS, and CA125 to distinguish benign and Malignant adnexal masses. *J Ovarian Res.* (2022) 15:15. doi: 10.1186/s13048-022-00947-9

38. Timmerman D, Planchamp F, Bourne T, Landolfo C, du Bois A, Chiva L, et al. ESGO/ISUOG/IOTA/ESGE Consensus Statement on preoperative diagnosis of ovarian tumors. *Int J Gynecol Cancer*. (2021) 31:961–82. doi: 10.1136/ijgc-2021-002565

39. Butureanu T, Socolov D, Matasariu DR, Ursache A, Apetrei A-M, Dumitrascu I, et al. Ovarian masses-applicable IOTA ADNEX model versus morphological findings for accurate diagnosis and treatment. *Appl Sci.* (2021) 11:10789. doi: 10.3390/app112210789

40. Guo Y, Zhao B, Zhou S, Wen L, Liu J, Fu Y, et al. A comparison of the diagnostic performance of the O-RADS, RMI4, IOTA LR2, and IOTA SR systems by senior and junior doctors. *Ultrasonography.* (2022) 41:511–8. doi: 10.14366/usg.21237

41. Meys EM, Kaijser J, Kruitwagen RF, Slangen BF, Van Calster B, Aertgeerts B, et al. Subjective assessment versus ultrasound models to diagnose ovarian cancer: A systematic review and meta-analysis. *Eur J Cancer.* (2016) 58:17–29. doi: 10.1016/ j.ejca.2016.01.007

42. Alcázar JL, Pascual MA, Graupera B, Aubá M, Errasti T, Olartecoechea B, et al. External validation of IOTA simple descriptors and simple rules for classifying adnexal masses. *Ultrasound Obstet Gynecol.* (2016) 48:397–402. doi: 10.1002/uog.15854

43. Czekierdowski A, Stachowicz N, Smolen A, Łoziński T, Guzik P, Kluz T. Performance of IOTA simple rules risks, ADNEX model, subjective assessment compared to CA125 and HE4 with ROMA algorithm in discriminating between benign, borderline and stage I Malignant adnexal lesions. *Diagnostics*. (2023) 13:885. doi: 10.3390/diagnostics13050885

44. American College of Obstetricians and Gynecologists' Committee on Practice Bulletins—Gynecology. Practice bulletin no. 174: evaluation and management of adnexal masses. *Obstet Gynecol.* (2016) 128:e210–26. doi: 10.1097/AOG.000000000001768

45. Jha S, Singh A. Enhancing diagnostic accuracy in ovarian tumour assessment: a combined approach of IOTA simple rules and CA125. *EJMO*. (2023) 7(4):312–17. doi: 10.14744/ejmo.2023.29867

46. Bahadur A, Mundhra R, Bhattacharya N. Role of CA 125, HE4, and IOTA simple rules in differentiating benign and malignant ovarian tumour. *Int J Gynecol Cancer* (2021) 31:A294. doi: 10.1136/ijgc-2021-ESGO.512